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Time: 2:30 hrs ' Marks: 75
Note: 1) All questions are compulsory.

2) Draw neat diagram wherever is necessary.

3) All questions carry -equal marks.
Q.1 (A) Fill in the Blanks. 4

1) Houses very close to each other is type of settlement.

2) is one of the Industrial Town in India.
) is a physical boundary between India and Pakistan.
4) is Cultural Town in India.
(B) Match the following. “)
A B
1) Rural Landuse Model Harris and Ulman
2) Concentrated Zone Model Homer Hoyt
: 3) Sector Model Von Thunen
4) Multiple Nuclei Model E.W Buress
£ (C) Solve the given problem of Nearest Neighbour Analysis and interpret the results. @)
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Q. 2 Discuss in detail the various sites for rural settlements.
OR

Q.2 Explain in detail various patterns of rural settlements.

Q. 3 Explain the causes of urbanization in detail.

OR

Q.3 With suitable diagram explain Sector Model of urban settlements.

Q. 4 Write in detail the classification of boundaries with examples.
OR

Q. 4 Write a note on difference between boundaries and frontiers.

Q 5 Discuss the characteristics of developed and developing countries.

OR

Q 5 Explain the impact of Globalization on Indian culture and Media.
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